
GENERAL
A00010 - WASHER REQUIREMENTS ERECTOR NOTE
A00020 - FIELD WELD REQUIREMENTS
A00030 - STANDARD ANGLE SCHEDULE
A00100 - STANDARD FASTENER SCHEDULE

TABLE OF CONTENTS



LAPPED / NESTED REGION

LAPPED ZEE

MEMBERS,

PURLINS OR GIRTS

EXCEPTION:

BOLT / NUT ASSEMBLY REQUIRED

AT LAPPED ZEE MEMBERS

(NO WASHERS REQUIRED)

NO WASHERS REQUIRED AT BOLTS USED IN THE

LAPPED REGIONS OF ZEE MEMBERS

S
E

C
. "

B
"

S
E

C
. "

A
"

H0200 -  1/2" FLAT WASHER

H0210 -  5/8" FLAT WASHER

H0220 -  3/4" FLAT WASHER

H0230 -  7/8" FLAT WASHER

H0240 -     1"  FLAT WASHER

H0250 - 1 1/8" FLAT WASHER

H0260 - 1 1/4" FLAT WASHER

WASHER

HOLE

HOLENUT

SLOT

HOLENUT

WASHER

NUT

SLOT

SLOT

WASHER

HOLE TO HOLE CONNECTIONS

SLOT TO HOLE CONNECTIONS

SLOT TO SLOT CONNECTIONS

NO WASHERS REQUIRED WHEN SLOTS ARE NOT USED.

ONE WASHER REQUIRED ON SLOTTED SIDE ONLY.

WASHERS REQUIRED ON BOTH SIDES OF MATERIAL IF

SLOTS ARE ON BOTH SIDES. (EXCEPTION: SEE DETAIL

AT RIGHT FOR LAPPED ZEE MEMBERS)

(UNLESS NOTED OTHERWISE ON DRAWINGS)

FLAT WASHER PART NUMBERS

WASHER REQUIREMENTS ERECTOR NOTE

A00010
SECTION "A"

SECTION "B"

WASHER

NUT

SLOT

SLOT

SLOT TO SLOT CONNECTIONS
WASHER REQUIRED AT NUT SIDE ONLY FOR BUTTON

HEAD BOLTS. (BUTTON HEAD BOLTS HAVE MATERIAL

GRABBING FINS UNDER THE HEAD, A WASHER IS NOT

NEEDED ON BOLT HEAD SIDE).

HEX HEAD

BOLT

HEX HEAD

BOLT

HEX HEAD

BOLT

BUTTON HEAD

BOLT

1) N/A

Detail Size (W x H) :
By :

: CERTIFIED ERECTION DETAILSIssued
Issued

Detailer Notes:

Download the DWG file by clicking here.

GENERAL
PRIMARY FRAMING

A00010 - WASHER REQUIREMENTS ERECTOR NOTE

09.22.21 (MR2021.10)
BSS

2 x 1

../Certified%20Erection%20Drawings/CED_NBG/AO0010.dwg


../Certified%20Erection%20Drawings/CED_NBG/AO0020.dwg


A00030

MAH0_ EAVE STRUT ANGLE

GALVANIZED

1" x 2-1/2" x 12"

1"

2-1/2"

MAL01 LINER LOW EAVE ANGLE

GALVANIZED

6" x 7-3/4" x 120"

6"

7-3/4"

MAL0_ LINER EAVE ANGLE

GALVANIZED

3" x 3" x 120"

3"

3"

MAL1_ LINER EAVE ANGLE

GALVANIZED

3" x 7-3/4" x 120"

3"

7-3/4"

STANDARD ANGLE SCHEDULE

MAE0_ EAVE ANGLE

GALVANIZED

4" x 5" x 120"

5"

MAF0_ EAVE ANGLE

GALVANIZED

5" x 8" x 120"

8"

MAG01 GIRT ANGLE

GALVANIZED

1" x 2-1/2" x 12"

2-1/2"

MAG02 GIRT ANGLE

GALVANIZED

1" x 2-1/2" x 24"

2-1/2"

MAG03 GIRT ANGLE

GALVANIZED

1" x 2-1/2" x 30"

2-1/2"

MAG10 GIRT ANGLE

GALVANIZED

1" x 2-1/2" x 120"

1"

2-1/2"

MAP01 RAKE PARAPET ANGLE

GALVANIZED

2" x 12" x 120"

2"

12"

MAP02 RAKE PARAPET ANGLE

GALVANIZED

6" x 6" x 120"

6"

6"

MAR01 RAKE ANGLE

GALVANIZED

3" x 5" x 242"

3"

5"

MAR02 STANDING SEAM RAKE/

BASE ANGLE

GALVANIZED

2" x 3" x 242"2"

3"

4"
5"

1"
1"

1"

ANG. (SLOPE)

ANG. (SLOPE)

MAH1_ EAVE STRUT ANGLE

GALVANIZED

1" x 2-1/2" x 12"

1"

2-1/2"

MAL__ LINER EAVE ANGLE

GALVANIZED

3" x 5" x 120"

5"

ANG. (SLOPE)3"

ANG. (SLOPE)

ANG. (SLOPE)

ANG. (SLOPE)

ANG. (SLOPE)

1) N/A

Detail Size (W x H) :
By :

: CERTIFIED ERECTION DETAILSIssued
Issued

Detailer Notes:

Download the DWG file by clicking here.

GENERAL
PRIMARY FRAMING

A00030 - STANDARD ANGLE SCHEDULE

02.10.20 (MR2020.02)
KMC

1 x 2

../Certified%20Erection%20Drawings/CED_NBG/AO0030.dwg


FASTENER SPECIFICATIONS USAGE NOTES FASTENER SPECIFICATIONS USAGE NOTES

PA
N

EL
 C

LI
P 

& 
SE

C
O

N
D

AR
Y 

AT
TA

C
H

M
EN

T 
FA

ST
EN

ER
S

R
O

O
F 

FA
ST

EN
ER

S

W
AL

L 
FA

ST
EN

ER
S

R
IV

ET
S 

& 
SP

EC
IA

LT
Y 

FA
ST

EN
ER

S

H1
02

0
H1

02
5

H1
07

0
H1

07
5

H1
00

0
H1

02
6

H1
03

0
H1

03
5

H1
05

0

H1
04

5 /
 H

10
47

H1
04

0 /
 H

10
41

H1
10

0
H1

11
0

H1
22

0
H1

22
3

H1
22

4

H1
07

9

A00100

Self-Drilling Screw
1/4-14 x 1 1/4" TCP 3 w/o Washer
5/16" Head

Self-Drilling Screw
1/4-14 x 2" TCP 3 w/o Washer
3/8" Head

Color: Available in "No Paint" Only

Color: Available in "No Paint" Only

Panel Clips

Attach panel clips, rake
angle clips, eave plate to
purlins with insulation ≤
R19
Attach misc light gauge
material to secondary

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

DRILLING CAPACITY
0.110 MIN  /  0.250 MAX

Pre-Drill Diameter: 3/16" Ø

DRILLING CAPACITY
0.110 MIN  /  0.250 MAX

Pre-Drill Diameter: 3/16" Ø

Self-Drilling Screw
12-24 x 1 1/2" TCP 5 w/o Washer
5/16" Head

Color: Check w/ local plant

Self-Drilling Screw SDI
12-24 x 1 1/2" #5 Drilltite w/o Wash
5/16" Head (Painted Orange)
(Vendor: Black & Decker)

Color: Available in "No Paint" Only

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Panel Clips - Hot Roll

Attach panel clips, rake
angle clips, eave plate to
joist with insulation ≤ R19

Attach misc light gauge
material to HR secondary

DRILLING CAPACITY
0.250 MIN  /  0.500 MAX

Pre-Drill Diameter: 3/16" Ø

RECOMMENDED TOOL TYPES
1800 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

DRILLING CAPACITY
0.250 MIN  /  0.500 MAX

Pre-Drill Diameter: 3/16" Ø

RECOMMENDED TOOL TYPES
1800 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Used to attach deck to
joist with high seismic
loads

NOT to be used for roof
clips

Available for Utah only

Panel Clips - Long

Attach panel clips, rake
angle clips, eave plate to
purlins with insulation
>R19 and ≤ R38

Self-Drilling Screw
12-24 x 2" TCP 5 w/o Washer
5/16" Head

Color: Check w/ local plant

Panel Clips - Hot Roll
- Long

Attach panel clips, rake
angle clips, eave plate to
joist with insulation > R19
and ≤ R38

DRILLING CAPACITY
0.250 MIN  /  0.500 MAX

Pre-Drill Diameter: 3/16" Ø

RECOMMENDED TOOL TYPES
1800 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Wall Structural

Used to attach wall panel,
wall flashing and light
gauge parts with insulation
≤ R13

Self-Drilling Screw
12-14 x 1 1/4" TCP 3 5/16" Head

H1040 - w/o Washer
H1041 - w/ Washer

Self-Drilling Screw
12-14 x 2" TCP 3 5/16" Head

H1045 - w/o Washer
H1047 - w/ Washer

Color: All Standard SMP & PVDF
Check local plant stock inventory

Color: All Standard SMP & PVDF
Check local plant stock inventory

DRILLING CAPACITY
0.050 MIN  /  0.140 MAX

Pre-Drill Diameter: 5/32" Ø
Wall Structural - Long

Used to attach wall panel,
wall flashing and light
gauge parts with insulation
> R13 and ≤ R19 DRILLING CAPACITY

0.090 MIN  /  0.210 MAX

Pre-Drill Diameter: 3/16" Ø

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

SELF-TAPPING SCREW
(GOOF SCREW)
17-14 x 1" w/ Washer
5/16" UltiMate Head

Self-Drilling Screw
12-14 x 2" TCP 3 w/ Washer
5/16" UltiMate Head

Color: All Standard SMP & PVDF
Check local plant stock inventory

"Goof Screw"

Used at locations on roof,
where fastener has
stripped out.

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch
DO NOT use impacting tools

DRILLING CAPACITY
N/A

Roof Structural

Used to attach roof panel,
roof flashing, end laps
and light gauge parts with
insulation ≤ R16

Self-Drilling Screw
1/4-14 x 1 1/4" TCP 3 w/ Washer
5/16" UltiMate Head

Self-Drilling Screw
12-14 x 1 1/2" TCP 3 w/ Washer
5/16" UltiMate Head

Color: All Standard SMP & PVDF
Check local plant stock inventory

Color: All Standard SMP & PVDF
Check local plant stock inventory

Roof Structural - Long

Used to attach roof panel,
roof flashing, end laps
and light gauge parts with
insulation = R19

DRILLING CAPACITY
0.090 MIN  /  0.210 MAX

Pre-Drill Diameter: 3/16" Ø

DRILLING CAPACITY
0.050 MIN  /  0.140 MAX

Pre-Drill Diameter: 5/32" Ø

Self-Drilling Screw
1/4-14 x 7/8" TCP 1 w/ Washer
5/16" UltiMate Head

Color: All Standard SMP & PVDF
Check local plant stock inventory

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Roof Stitch

Used to attach roof trim
end laps and trim to roof
panel DRILLING CAPACITY

0.035 MIN  /  0.090 MAX

Pre-Drill Diameter: 1/8" Ø

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Vented ridge
-To accomodate the
thickness of the
Cor-A-Vent

Color: All Standard SMP & PVDF
Check local plant stock inventory

Pop Rivet
1/8" x 3/16"
Stainless Steel Blind Pop Rivet

Grommet Fastener
3/8" Diameter Stainless
Grommet Seal

Color: All Standard SMP & PVDF
Check local plant stock inventory

Color: Available in "No Paint" Only

Used at trim laps, corner
caps, and attaching trim to
panel where stitch
fasteners can't be used

RECOMMENDED TOOL TYPES
Manual or electric rivet tool
DO NOT use impacting tools

RECOMMENDED TOOL TYPES
Torque adjustable clutch grommet tool
DO NOT use impacting tools

Used at translucent panel
to metal side lap
connections

Self-Drilling Screw
12-14 x 1" TCP 3
Square / Phillips Pancake Head

Color: Available in "No Paint" Only

Self-Tapping Fastener
10-12 X 1"
Square / Phillips Pancake Head

Self-Tapping Fastener
10-14 X 1-1/2" Woodtite w/ Washer
1/4" Head

Color: All Standard SMP & PVDF
Check local plant stock inventory

Color: Available in "No Paint" Only

DRILLING CAPACITY
0.090 MIN  /  0.210 MAX

Pre-Drill Diameter: 3/16" Ø

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Pancake Screw

Used to attach panel clips
and rake angle to purlins
**ONLY WITH ZERO
STANDOFF CLIPS

Wood Structural

Used to attach panel and
trim to wood structure

Non-Stock Special Order
Fastener

Wood Clip Screw

Panel clips  to wood

**Only 0" offset  clips

Non-Stock Special Order
Fastener

RECOMMENDED TOOL TYPES
2000-2500 RPM
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

RECOMMENDED TOOL TYPES
2000-2500 RPM
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Insulation Retainer Washer
1/4 x 1-1/4" F8 Fender Washer
(1 1/4" O.D. w/ 5/16" I.D.)

Color: Available in "No Paint" Only

RECOMMENDED TOOL TYPES
N/A

Used in conjunction with
H1020 fasteners to secure
roof insulation. Reference
roofline trim details for
specific applications.H2

20
0

DRILLING CAPACITY
0.110 MIN  /  0.250 MAX

Pre-Drill Diameter: 3/16" Ø

H1
07

0 /
 H

10
71 Self-Drilling Screw

12-24 x 1 1/2" TCP 5 5/16" Head
H1070 - w/o Washer
H1071 - w/ Washer

DRILLING CAPACITY
0.250 MIN  /  0.500 MAX

Pre-Drill Diameter: 3/16" Ø

RECOMMENDED TOOL TYPES
1800 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Color: All Standard SMP & PVDF
Check local plant stock inventory

Wall Structural
-HR w/ Washer

Used to attach wall panel
and trims to hot roll
members with insulation
≤ R13

H1
07

5

Self-Drilling Screw
12-24 x 2" TCP 5 w/o Washer
5/16" Head

Color: Check w/ local plant
DRILLING CAPACITY
0.250 MIN  /  0.500 MAX

Pre-Drill Diameter: 3/16" Ø

RECOMMENDED TOOL TYPES
1800 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Wall Structural
-HR w/ Washer

Used to attach wall panel
and trims to hot roll
members with insulation
> R13 and ≤ R19

H1
06

0 /
 H

10
61 Self-Drilling Screw

1/4-14 x 7/8" TCP 1 5/16" Head
H1060 - w/o Washer
H1061 - w/ Washer

Color: All Standard SMP & PVDF
Check local plant stock inventory

DRILLING CAPACITY
0.035 MIN  /  0.090 MAX

Pre-Drill Diameter: 1/8" Ø

RECOMMENDED TOOL TYPES
2000 RPM MAX
Torque adjustable clutch, 4 AMP or higher
DO NOT use impacting tools

Wall Stitch

Used to attach wall trim
end laps and trim to wall
panel

Detail Size (W x H) :
By :

: CERTIFIED ERECTION DETAILSIssued
Issued

Detailer Notes:

Download the DWG file by clicking here.

GENERAL
PRIMARY FRAMING

A00100 - STANDARD FASTENER SCHEDULE

10.14.22 (2020.039)
SLF

3 x 3

1) THIS DETAIL IS REQUIRED ON EVERY PROJECT.

../Certified%20Erection%20Drawings/CED_NBG/AO0100.dwg

	GENERAL
	A00010 - WASHER REQUIREMENTS ERECTOR NOTE
	A00020 - FIELD WELD REQUIREMENTS
	A00030 - STANDARD ANGLE SCHEDULE
	A00100-STANDARD FASTENER SCHEDULE


